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HW #12 



 

Key:  5 | 4 6 

   Indicates that the age of two Nobel Laureates were 

   54 and 56 years old, respectively 

 

Key:  2 | 1 

   Indicates that the number of appearances for one team, Wisconsin, was  21 tournament appearances 



 

  

Use the proportion      Use the proportion 

 
 % 

100
=  
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 𝑝 

100
=  

139

98
         

2.6

100
=  

𝑝𝑎𝑟𝑡

32.4
 

so  98𝑝 = 13900      or  0.026(32.4) = 𝒑𝑎𝑟𝑡 

 𝑝 = 141.84       p = 0.8424 

139 is 141.84% of 98     0.8424 is 2.6% of 32.4 

 

 

 

 



Convert the z-scores to percentiles (answers on next page) 

13)  z-score of 1.24   14)  z-score of −0.87  

 

 

 

15) z-score of 0   16) z-score of 2.06  

 

 

 

Convert the percentiles to z-scores  

 

19)  the 27th percentile   20)  the 90th percentile 

 

 

 

21)  a z-score that corresponds to the top 20 percent 
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Convert the z-scores to percentiles 

13)  z-score of 1.24    14)  z-score of −0.87  

 is the same as 0.8925 which is   is the same as 0.1922 which is 

 approx. the 89th percentile   approx. the 19th percentile 

 

 

 

15) z-score of 0     16) z-score of 2.06  

is the same as 0.5000 which is   is the same as 0.9803 which is 

 exactly the 50th percentile   approx. the 98th percentile 

 

 

  

#17 ) 



 

 

Convert the percentiles to z-scores  

 

19)  the 27th percentile    20)  the 90th percentile 

First, find the decimal form,   Find the decimal form, 

Which is 0.2700 on Table  Which is 0.9000 on Table 

Closest decimals are   Closest decimals are 

0.2709  and  0.2676   0.8997  and 0.9015 

Now convert to z-scores  Now convert to z-scores 

−0.61  𝑎𝑛𝑑 − 0.62      1.28  𝑎𝑛𝑑  1.29 

Last, Describe in context 

The 27th percentile is the     the 90th percentile 

Same as a z-score of approx.    same as a z-score of approx.. 

𝑧 = −𝟎. 𝟔𝟏𝟓       𝑧 = 𝟏. 𝟐𝟖𝟓 

 

 



 

21)  a z-score that corresponds to the top 20 percent 

 

 

What percentile does this position correspond to? 

 

This is the 80th percentile, or 0.8000 

Find this decimal on form,   

Closest decimals are 

0.7995 and  0.8023   

Now convert to z-scores   

0.840  𝑎𝑛𝑑  0.850       

Last, Describe in context 

The 80th percentile, which separates the top 20 percent, 

 is the same as a z-score of approx.  z = 0.845 



 

Five number summary: 

Min 𝑄1 Median     𝑄3      Max  Min   𝑄1 Median     𝑄3        Max 

12 13.5  16.5     17.5       19   7000 11,800  18,000     21,500      41,100 

  𝐼𝑄𝑅 = 4.0       𝐼𝑄𝑅 = 10,300 

 

 

Between pages 39 to 42 this concept is described and examples provided. 

Unit of analysis could be different “units” or measures from the same data. 

 


